Mathematics C

Indefinite Integration involving Exponential Functions

Syllabus Reference: 12-1(b), 12-2(b) UNIVERSITY FOUNDATION YEAR
NewSouth Giobal
Suggested Exercises: Textbook 12-1/13,27,53,69
12-2/3,15,29,35
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1. Find the following indefinite integrals:
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‘* 2. Differentiate xe® and hence find |xe*dx.
3. If —le=ex+2 findy when x=1,giventhat y=4 when x=0.

4. For a certain function y = f(x), f"(x)=2e* -3¢~
If £'(0)=5 and f(0)=6 find f(l).

5. The rate of healing for a wound to the skin is approximately AWM= ~0.9¢~01

square centimetres each day. If the original wound has an area of 9 cm? , find the area
of the wound after 5 days.
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